=N =

(CCSPHERICAL SURFACE BALIL BEARING

<y
il
7‘%7/ A ‘§=
i
N | §i
= A4
! | K™
| g ==
0y &
3 | Sl
B
MR | WERA () HOEAAT | WO o
ks d (mm) Dimensions (mm) Basic Load | Basic Sttie | (o0
Bearing No. Bore Dia Of ‘ Rating | Load Rating (K(%)
G [m) P [ B[ €[ 5§ [ 81 [ G| H] d | CRKN | CORKN -
UC 205-14 7/8 0.220
205-15 15716 0210
205 20472 1.34251 06693 | 05630 07795 | 02165 | 0.1772) Mé6xl 0.208
205-16 1 25 52| 31| 17 143 198 55| 45| 1/4-28 1403 706 0200
UC 206-17 11/16
206-18 11/8 0.340
206 0.320
206-19 1 3/16 24409 | 1.5000] 0.7480 | 0.6260| 0.5740 0.2087 | M8xl1 0.310
206-20 1174 | 30 62 381 19 159 222002362 53| 1/4-28 1947 11.26 0300
UC 20720 11/4 T 6.0 0.530
207-21 1 5716 0.510
207-22 1 3/8 | D480
207 2.8346 | 1.6890 0.7874 0.6890| 1.0000 | 0.2559 | 0.2244 | M8x1 | 0470
207-23 17/16| 35 72| 429 20 17.5| 254 6.5 57| 5/16-24 20.67 1529 | 0450
UC 208-24 112 0.680
208-25 19/16 31496 | 19370 0.8268 | 07480 10890 03150 | 0.2480 | MSx1 0.650
208 40 80| 402 21 \ 190 302 80| 63|5/16-24 2271 1594 0.610
UC 209-26 158 | ‘ 0.780
209-27 1 11/16 ' ‘ 0.740
209-28 1 374 |3.3465 | 19370 08661 | 0.7480 11890 03150 | 0.2677 | M8xl 0.700
200 45 §5, 492 22 190 302 80| 68 5/16-24 2436 17.71 0.680
UC 21030 1778 ’
210-31 1 15/16 f 0870
210 35433 | 20315| 0.9449 | 07480 1.2835| 0.3543 | 0.2638 | M10x1.25 0.820
210-32 2 50 90| 51.6) 24| 190 326/ 90| 67/3/824 | 2750 20.20 0.800
UC 211 32 2 1.270
211-34 7 I 1.180
211 39370 2.1890| 0.9843 | 08740 13150 0.3543 | 0.2835| M10x1.25 1.120
211-35 2 3/16 | 55 100/ 556 25 223|334 9.0 72|3/824 | 3340 25.10 Lion
UC 21236 2 1/4 1.670
212 : 1540
212-38 2 3/8 43307 25630 1.0630 LODOO| 15630 | 0.4134 | 0.3228 | MI10x1.25 1520
21239 2 7/16 60 110 65.1 27 254 397 | 10.5 82| 3/8-24 41.00 31.50 1450
: |
UC 213-40 2 i 47244 | 25630 11024 | L0000| 1.5630| 0.4724 | 0.3150| Mi12x1.25 1.840
213 65 120 651 28 254|  397| 120] 80771620 | 4440 3420 1.720
UC 21444 2 3/4 492120370 11811 11890 1.7480 | 0.4724 | 03543 | M12x1.25 2,030
214 70 125 746 30| 302| 444 120| 90[7/16-20 | 4679 3759 | 2000
ucC 215 5
21547 2 15/161 | 51181 3.0630 1.1811| 131100 1.7520 | 0.4724 | 0.3543 | M12x1.25 2210
21548 3 75 | a30| 7%8 32 33| 445| 120  90[7/1620 | 5540 41.26 2120
‘ |
== |

www.zmzmfg.com



